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S A
M QIAZAHHAS)
Chol: DI AL U BM=T] X2 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 2,700 2,700 0
O=8IXtxI2 KHOHZE S W=
2,700,000& 2,700
sclgtygs A2 332,690 258,490 74,200
301 EetE2 N = 332,690 258,490 74,200
o7 & - 01 - HE2s24= 332,690 258,490 74,200
oolg+¢ 322,240
-JlE=g 400,000& * 53 ~ 123 254,400
-0 400,000& * 538 * 23 42,400
-3lo|=g 20,0003 » 532 = 23| » 122 25,440
Oogt&32d=s 50,000 * 200 * 13l 10,450
AsLBH XS 11,040 11,040
301 EtE NS 11,040 11,040
06 AHELHUHAEIXIR 11,040 11,040
OO0kAHI 4,0008 = 4% = 1JHOH » 3652 5,840
O=2g & gyl
100,000& = 1JHCH * 123 1,200
OXtg= Al 4,000,000& * 1CH 4,000
SSAE |X2cl 178,670 191,838 13,168
101 21AH| 24,154 16,231 7,923
04 JIZtN2Z2XNS 2= 24,154 16,231 7,923
OF A2l J12tHZ22 Xt 24 24,1%4
-204 84,4002 * 1% * 243 20,510
-ABIEE J1BRYE 5
20,510,400& * 12% 2,462
EUPNE= 84,4008 = 14& 1,182
201 et 3| 151,887 151,287 600
01 At22t2l] 32,323 32,323 0
Ostdal 5 FAmzelegs 7
300,000& = 12& 3,600
OH=J] ¢ 2,000,000& 2,000
OEH=I1 ANl T =2
400,0008 = 42 1,600
O&=J| gtz 40,0002 = 7CH = 122 3,360
OHlbl &xt=z 25,1003 = 1200 » 128 3,615
O3JIZE)| gtz
56,0008 = 4CH 123 2,688
OBA HH(LS) =28
290,000& * 62l 1,740
OFA 2243 A =22
440,000 = 23 880
odJ|etd e ===
270,000& = 123 3,240
Oagotdae| ==
350,000& = 128 4,200

_2_




A HAH
M pIASAHUAE)
Chol: DI AL U BM=T] X2 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Osaetdae| ==
450,0008 * 123 5,400
2 ZZ2H| 119,564 118,964 600
OS2Il L XV AR 242
572,000& = 128 6,864
OZ33x2= & HMAl 75,600
-HIIRS(HAL S 8)
4,000,000& * 128 48,000
JtAea(dHEI])
2,000,000& = 123 24,000
-dotrEes 200,000& = 122 2,400
-HEAS FAX, Y, RdAE8E 23
100,000& = 12& 1,200
OAlZ &8I Xl 32,100
-2AESKXIHI(4,770m") 7,000,000 7,000
-EAL BHE R 2F S 2e
4,000,000 4,000
-EAH HHED| 2o =]
100,002 * 60CH 6.000
~EAL Al SXII 2,000, 0002 2,000
HASYE SIS
270,000 * 3002 8,100
-Has=AE A2
500,0002 * 1002 500
S2A)| W EHEREE (D], MDY
500,000 = 9CH 4,500
OXE eI 5,000,000& 5,000
401 A2 HIRL 201 2,629 20,000 A17,371
01 Al&H| 2,629 20,000 A17,371
OFAL S& 2FAl delZ 2= SAt
2,629,000& 2,629
NSAtl2 82 X2 5,100 1,800 3,300
201 er2 3| 5,100 1,800 3,300
01 AtR2telHl 5,100 1,800 3,300
OXNGSARI2ZEAN 212+
50,0002 = 17 = 62 5,100
MOISEM 28 X2 31,800 0 31,800
201 =3 31,800 0 31,800
01 At22t2l] 31,800 0 31,800
OMDt=2l 32 &4 =g
50,0002 * 106 * 62 31,800
SHARSAEFZE(HAS) 192,700 192,700 0
ATEAAFE 192,700 192,700 0
LB K A7 2AY 87,700 87,700 0
201 fet=3| 7,700 7,700 0
02 s3=gHl 7,700 7,700 0




SA: A
M SHARDAGZFT(CHAY)
SRl AR 2AIERA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEX0lE HZAIAH(D-DAS) 12t 2told A
e 7,700,000& 7,700
401 Al HIYL S CHYI 80,000 80,000
01 AlZH| 65,000 65,000
Otz S A& FXE=H
50,000,000 50,000
OARDAE XX S 5 8]
5,000,000& 5,000
OkzY N=&Y 10,000,000 10,000
03 AIZSTHYI 15,000 15,000 0
OkZ S ot&fddl &l axt
10,000,000& 10,000
ON&ZH ext= 5,000,000 5,000
ZLXEAY 5,000 5,000 0
206 MH=HI 5,000 5,000
01 MHZH| 5,000 5,000
OZZ x4 M= 7 5,000,000& 5,000
U0l A 100,000 100,000 0
401 AIEHIX R0 100,000 100,000
01 A28l 100,000 100,000
OUAH Efdlin A2 B A
55,000,000 55,000
OUAY Q42| 3|MNXIZ H2XxH &
Ared 35,000,000 35,000
Ol42 U=H2SE JUIAY
10,000,000 10,000
HY2AZHI(HAH) 168,581 198,659 240,078
Jl2Zl(tHAas) 158,581 198,659 40,078
Jl=2&H] 158,581 198,659 40,078
201 Ler23 | 87,651 17,749 /30,098
01 At22t2lt] 63,828 93,926 /30,098
Oga=g(Ld=2Hl) 14,550,000& 14,550
Oget+=ZHI 8,262,000& 8,262
@=] 9,216,000& 9,216
OHHFHI(SADI) SX2
380,000 = 300 » 122 13,680
O#EEHl 425 2 18,120
-2l Zely 13,200
- EY 440,0008 * 45 = 304 = 22 10,560
= 440,000& * 304 * 23] 2,640
-LBHI2IE 200,000 = 9UH = 23 3,600
—FAX 120,000& = 20 * 32 720
-H=d30] 2 600,000 600
02 S3=gHl 23,823 23,823 0




SA: A
A HZRAZHI(HAH)
ool J1=2ZHI(HAH) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03322 % MAM(RER3)
19,900,000 19,900
OgE &l |RA2=H| 3,923
OIS A1)
1,300,000 = 27CH * 5% 1,755
-Zgly 4,000,000& * 13CH * 2% 1,040
+AX 600,000 * 2CH * 2% 24
-stol
46,0002 * 2CH = 123 1,104
202 04| 58,320 67,500 29,180
02 XN 58,320 67,500 29,180
OZH04H| 58,320,000 58,320
203 HR=H] 11,760 11,760
01 J|2=2ge 6,600 6,600
oud 550,000& = 12& 6,600
02 3t RF&| 960 960 0
OAF A A A | 40,0008 * 24H 960
W el 4,200 4,200 0
ORN2ILLETY
350,000 = 128 4,200
405 AHaHE S 850 1,650 A800
01 AL =S F=H 850 1,650 2800
OA3o 4 SSEA 2
850,000% = 1CH 850




